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Answering economics exam questions

What skills will you need? To do well in economics you must show that you know the theories, can
explain them, can apply them to the given question, can analyse the implications of the theories or
reasoning behind them, and show judgment in your answer. Remember it is not just about learning
the material - you must relate it to the question set and discuss the validity of your arguments.

What to do when revising: Get hold of the syllabus. Break it down into manageable sections.
Produce a revision timetable. Tick off items as you cover them. Summarise your notes into brief,
memory jogging revision notes. Learn: What do the terms mean? What is the relationship between
the different variables? What are the relevant diagrams? What is the significance of the topic - why
have you studied it? Take ‘investment’, for example - What is it? What affects it? What are the
consequences of it changing? Also, make sure you get hold of past papers - see how examiners have
asked about topics in recent years. Practise!

In the exam room: Check you know exactly how much time you have, what you have to do, how
many questions you must answer. Write down when you must move on to the next question.
Quickly read through the whole paper a couple of times. Think before writing. Watch your time. Do
not get carried way with the topics you know well and delay starting questions where you are more
uncertain. Plan your answers to make sure you are answering the question properly.

Answering questions: Read the question. Read it again! One of the major mistakes that candidates
make is that they fail to answer the question set. Once you get started on an answer it is very difficult
to change it, so make sure you answer the question correctly first time. Read the question
thoroughly, think about how you will answer it before you begin.

Look for the trigger words: Make sure you think about the type of question before answering. If the
question asks you to ‘identify” or ‘describe’ these are basic skills - you should simply make a series of
points. If it asks you to ‘explain” or ‘account for” something you must show why these points are
relevant. ‘Analyse’ or ‘examine” means you should develop your argument in greater detail - What
are the potential consequences of a particular change? Is there a secondary effect? Is the outcome
certain? ‘Consider’, ‘assess’ or ‘evaluate’ means you need to weigh up the points you have made -
Are they always true? What other factors are there? How reliable is the data? Do the facts fit the
theory? Is the theory flawed? Are there alternative views? What is most likely to be the effect? Least
likely? What does it depend on? Try to avoid simply listing points with these types of questions;
discuss your ideas.

Look for specific words: check whether the question wants examples or refers to a specific situation,
such as a ‘dramatic’, ‘sudden’, ‘long term’, or ‘short term’ change. Any extra words in the question
need to be referred to in your answer. -

Data response questions: Avoid general, journalistic answers. Make sure you have some economic
theory! Try to explain your points with reference to economic analysis; illustrate your points with
diagrams if you can. Avoid simply repeating the data, e.g. it goes up by 12%, down by 5%, down by
2%. Look for trends, overall changes and patterns within the trend, e.g. seasonal fluctuations or
economic cycles. Think about causes and effects - What has brought about this pattern? What is the
likely impact of the trends in the data? Relate your answer to theory.

Remember: to do well in high mark questions you must: show you know the topic, develop your
points, relate them to the question and consider the significance/validity/underlying assumptions of
your arguments. The depth of your argument is more important than making a series of points.

Avoid: i) answering too many or too few questions(!), believe it or not this is quite common; make
sure you know what to do on each paper, ii) being too descriptive - develop your ideas, iii)
answering the question you wished they had set instead of the one they did set.

Good luck!



Introduction to Economics

Types of economics

¢ Positive economics is based on testable theories,
e.g. the idea that higher interest rates lead to a
fall in aggregate demand can be tested by
looking at past data.

* Microeconomics focuses on individual markets

and decisions by individual households and firms.

¢ Normative economics is based on opinion,
e.g. the idea that the Government should make the
reduction of unemployment its priority, is one
person’s view; another person might think it is
more important to increase growth. Normative
statements often have ‘should’ or ‘ought to’ in
them; they involve value judgements.

¢ Macroeconomics focuses on the economy as a
whole, e.g. it considers the price level for the
economy as a whole, rather than for one market.

Sectors of the economy

e Private sector: resources owned by private individuals
¢ Public sector: resources owned by the State

e Primary sector: extractive industries, e.g. forestry,
fishing, coal

¢ Secondary sector: converts materials into goods,
e.g. manufacturing

e Tertiary sector: service sector, e.g. finance, tourism

In the UK this century, the service sector has been
growing and the primary sector has been declining.

Factors of production

FACTORS TRANSFORMATION

OF D

PROCESS

OUTPUT

PRODUCTION

Land: natural resources, e.g. land itself, minerals, the sea
Labour: human resources; this depends on the population
size, the working age, people’s skills and the level of
training

Capital: man-made aids to production, e.g. factories and
equipment

Entrepreneurship: this is the ability to combine factors of
production and take risks in establishing new ventures

Types of production

e Capital intensive: uses relatively high amounts of capital compared to other factors of production, e.g. oil refining
¢ Labour intensive: uses relatively high amounts of labour compared to other factors of production, e.g. hairdressing

Scarcity and choice

At any moment in time output in an
economy is limited by the resources
and technology available. However,
consumers’ wants are unlimited and
so decisions must be made about:

e What to produce? What goods
and services should be made with
the resources available?

e How to produce? What is the
most efficient means of using the
resources?

e For whom to produce? How are
the goods and services allocated
amongst consumers?

These are the three basic economic
problems. Different economic
systems solve them in different ways.

%4

Produc

b
\\V\/M& _,

Introduction to Economics 5



Introduction to Economics continued

Types of economy

s

Free market: the allocation of
resources is left to market forces of
supply and demand.

Private sector

/

Mixed economy: some of the decisions Command or planned economy: the
are made by the Government and Government decides what is produced,
some are made by market forces. how it is produced, and for whom.

Public sector

In reality, all economies are mixed to some degree, but vary in the extent to which the Government intervenes.

In the 1980s and 1990s, the UK Government has been trying to reduce its involvement in the economy

(e.g. through privatisation) and increase the role of the private sector. This trend has been followed in many other countries,
e.g. the decline of Communism in Eastern Europe.

Opportunity cost is the sacrifice
foregone in the next best alternative.
If a firm invests more in project A
rather than project B, for example,
then project B is the opportunity cost.
If we use our income to buy X not Y,
Y is the opportunity cost.

Types of goods

e Capital goods (producer goods): used to produce consumption goods in the
future, e.g. machinery and equipment; not bought for final consumption.

e Consumption goods: bought for final consumption, e.g. washing machines,
videos. Consumer non-durables (e.g. food) are immediately consumed;
consumer durables are not consumed immediately, e.g. televisions.

¢ Free goods: involve no opportunity cost, e.g. air. Note: nowadays clean air may
have an opportunity cost because resources are needed to remove pollution.

Production Possibility Frontier (PPF) or Production Possibility Curve (PPC)

shows the maximum combination of goods and services which can be produced given the existing level of resources.

Good A 4
PPF

®

®
W

/' Any combination of goods outside the frontier cannot be achieved with existing

resources and without trade. These combinations may be achievable over time
with more resources or with trade.

* Any combination of products on the frontier is productively efficient;
no more of one good can be produced without producing less of another.

Good Ig

e Any combination of goods within the frontier is productively inefficient;
more of one good could be produced without producing less of another.

Good A4

24 l
20

If the economy reallocates resources from ‘X’ to ‘Y’,
it gains an extra unit of B but sacrifices 4 units of A;
the opportunity cost of another B is 4A.

Good B

6 Introduction to Economics




Introduction to Economics continued

Shape of the production
possibility frontier

usually convex to the origin due to
the law of diminishing returns - as
resources are transferred from Good A
to Good B, the extra output of B
becomes successively smaller, whilst
the amount being sacrificed in A
become successively larger.

If returns are constant, the PPF is a
straight line - as resources are transferred
from one good to another, the amount of
output sacrificed by one good and
gained by the other is constant.

PPF

Good B

Good Al

Good A

PPF, Economic growth: with,

for example, a bigger
labour force or better
technology, the
economy can
produce more

of all goods.
£y The PPF
shifts
outwards.
2% GoodB Good B
Types of economy
Free Market Command or planned economy
¢ decisions are made by individual buyers and sellers who ¢ decisions made by central planning agency
act in their own self interest; producers aim to maximize e State ownership of resources
their profits; consumers aim to maximize their utility e prices set by the State
¢ the price mechanism allocates resources e motive for production is social welfare

Advantages of the free market

* resources are allocated by market forces and the
price mechanism (called the Invisible Hand by Adam
Smith); there is no Government intervention

« the profit motive provides an incentive to reduce costs
and be innovative

* the free market maximizes community surplus if there

are no failures and imperfections

Free Market

lack of market forces

Disadvantages of free market

see market failures and imperfections on pages 20-22
eg.

* public goods

* merit goods

* externalities

* instability

Advantages of the command or planned

economy

 the Government can influence the distribution of
income to make it more equal

* the Government can determine which goods are

supplied (e.g. it can prevent the production of socially

undesirable goods)

or
Planned

Command lack of a profit motive; goods are often poor quality

economy

Disadvantages of the command or

planned economy

* requires an enormous amount of information (and
almost inevitably there will be information overload
leading to inefficiency); often bureaucratic

* no incentive for individuals or firms to be innovative;

and usually a limited choice.
« liable to lead to allocative and productive inefficiency
due to lack of competition and no profit motive

Introduction to Economics 7




Demand

A demand curve shows the quantity
that consumers are willing and able to
purchase at each and every price, all
other things unchanged. If other things £20
do change (e.g. the consumers’

incomes rise) the consumers are likely

to want more or less at each and every

price and the demand curve shifts.

Price

The law of demand states that a

higher quantity will be demanded at a

lower price assuming all other factors

remain constant.

The demand for a product or service £5
depends on factors such as the price,

consumers’ income, the price of other

D

goods, advertising, the consumers’
tastes.

Quantity (units)

Movements along the demand curve: extensions and contractions
A change in the price will lead to a ‘change in the quantity demanded’. This is shown by a movement along the demand curve.

Price A rise in price leads Price A fall in price leads
to a fall in quantity to a rise in quantity
ol LS EERERE, demanded, a Po b------mmmoa demanded, an
! contraction ! expansion
‘ in demand ‘ in demand
9% AR S . 9] PR S ,
| . D | : D
q, st q, Quantity 9 o e q, Quantity
Shift in demand 5
A change in any of the other factors i
affecting demand (except price) leads
to a shift in demand. At each and every i | s ob sl
price there is an increase or decrease (o LR, JERRETE— b, Jmmnen T A,
in the quantity demanded, so the R :\"dz‘r‘::::"
demand curve shifts. PO R A
A decrease
in demand
-
D, Do D,
Quantity

Outward shifts of the demand curve

The demand curve will shift outwards when more is demanded at each and every price. This could be because:

real incomes have risen (assuming the good is normal)

e the price of a substitute product has gone up, e.g. higher
prices for coffee might increase demand for tea

¢ the price of a complement product has gone down, e.g. a
fall in the price of cars might increase demand for petrol

the product has been advertised more effectively

e the population has grown so there are more consumers
e tastes have changed so more people want the product
¢ more credit is available so people can borrow more
money

8 Demand




Demand continued

Downward sloping demand curves

The demand curve is downward sloping because of the law
of diminishing marginal utility. Each extra unit of a good or
service will eventually give less extra satisfaction (utility);
therefore the consumer will only be willing to pay less for
more goods.

Note: although the consumer gets less extra satisfaction from
each additional unit, his or her total satisfaction is rising.

Market demand curve: the horizontal summation of
individuals” demand curves.

The price, income, and cross elasticity of

demand (also see pages 11-13)

¢ The size of the change in the quantity demanded
following a price change depends on the price elasticity
of demand.

e The increase or decrease in demand following a change
in income depends on the income elasticity of demand.

* The increase or decrease in demand following a change
in the price of other goods depends on the cross elasticity
of demand.

Upward sloping demand curves

The demand curve can slope upwards. This means more is

demanded when the price increases. This can occur with

e ‘ostentatious goods’ — people want to be seen buying
more expensive goods. Also called Veblen goods.

e Giffen goods — these are very inferior goods and, when they
become more expensive, consumers cannot afford any other
products, so spend what money they have on these.

Price

£30

£10

50 Quantity

20 ——

Income and substitution effects

If the price of a good falls, the quantity demanded will

usually increase. This is because of:

¢ a substitution effect - with the fall in price of good A,

A becomes relatively cheaper than other goods and
inevitably there is a desire to buy more. Consumers
inevitably switch to the relatively cheaper good.

e an income effect - with a lower price of good A, the
consumer has more real income. If he/she bought the
same amount of goods as before, there would be money
left over. This means the consumer has more purchasing
power because good A is cheaper. This leads to an
income effect. If the good is normal, the consumers will
want to buy more because of the income effect. This

means both the income and substitution effects make the
consumer want to buy more.

If the good is inferior, the consumer will actually want to buy
less; now that they have more real income they will want to
switch away to buy more luxurious goods. The income effect
therefore works against the substitution effect. However, the
substitution effect is larger and so overall the consumers do
buy more.

If the good is a Giffen good, the income effect again works
against the substitution effect and actually outweighs it.
This means that overall the quantity demanded falls when
the price falls and so the demand curve is upward sloping.

A price fall for a normal good

Substitution effect

Income effect

o P g
Jo ' 415
Eve
_overall effect N
9 %
A price fall for an inferior good
Substitution effect
° R :
Yo Income effect ‘
[ ] L .
G — J !
overall gﬁgg
N ——— I
% 9,

%

R
9 —— Income effect
overall effect

| ¢===m |
4 o

Demand 9




Demand continued

Utility Maximizing utility
Utility is another word for satisfaction. We assume the aim of rational consumers is to maximize their utility, given the

: following constraints: a) limited i b i t of prices ¢) constant tastes.
Marginal and total wing ints: a) limited income b) a given set of p )

Marginal utility (MU) is the extra To maximize utility, consumers will consume up to the point where
satlsfactlon_gamed from consuming MU, = MU. = MU =

another unit of a good. P A P B P C

Total utility (TU) is the total A B C

satisfaction gained from consuming This is known as the equi-marginal condition.
a given number of goods.

This means that the extra satisfaction per £ on the last unit of good A equals the

Law of diminishing marginal extra satisfaction per £ on the last unit of good B and that of C and D and so on.
utility states that successive units of If this was not the case, consumers would reorganize their spending and increase
consumption will eventually lead to their satisfaction. For example, if the last A per £ was more satisfying than the last
a fall in their marginal utility. B; the consumer would buy more As and less Bs. (They could not have more of

both as he or she is constrained by income.)

Paradox of value

Water is much more essential than diamonds but people are is high. The total utility for them is quite low. However there
willing to pay more for diamonds. This is because there are is a large amount of water and so the extra utility of another
relatively few of them and the marginal utility of another one unit is low. The total utility, however, is high.
i e.g. diamonds
Marginal (extra) -~

Utility (Mu) 10f--------2

e.g. water

rd

Quantity
Total utility (Tu)

B T .| SRR
S OV

—
<

30

water
28| -

i et . AR e saS st P e o

diamonds

10

o S R e Y S L S
T
DI s oot i o R SRS A S A

[ 1 g e

I
2

Quantity

10 Demand




Elasticity of demand

The elasticity of demand measures
the sensitivity of demand to a change
in a variable. The variable might be
the price of the good, the price of
other goods, or income.

The sign of the answer depends on the direction in which the two parts of the
equation move. If both demand and the variable move in the same direction (e.g. they
both increase or both fall) the sign will be positive. If they move in different directions
the answer will be negative, e.g. if demand rises when income rises, the answer will
be positive; if demand falls when income rises, the answer will be negative.

The sign shows the direction of movement; it does not show the actual elasticity;
this is shown by the size of the number (i.e. whether it is greater or less than one)

The size of the answer
(ignoring the sign)

Elasticity of demand

¢ |f demand is elastic this means that Value Description
the percentage change in demand Perfectly elastic infinity the percentage change in the quantity
is greater than the percentage demanded is infinite
change in the variable. The value = 7 ;
of the answer (ignoring the sign) Elastic >1 the percentfage change in the quantity
will be greater than one. demandgd is grea_ter than the percentage
¢ If demand is inelastic this means change in the variable
that the percentage change in Unit elastic =1 the percentage change in the quantity
demand is less than the percentage demanded is equal to the percentage change
change in the variable. The value in the variable
of the answer (ignoring the sign) > . B
wwiill B Yok than Svie. Inelastic <1 the percentage change in the quantity
e If demand is unit elastic the percent- demandfzd is less .than the percentage
age change in demand is the same changs ity the vafiable
as the percentage change in the Perfectly inelastic | O there is no change in the quantity demanded
variable. The value of the answer
(ignoring the sign) is equal to one.
Price elasticity of demand The sign

Measures the sensitivity of demand to a change in price.

percentage change in quantity demanded

percentage change in price

The price elasticity will usually be negative - when the price
goes up, the quantity demanded falls, and vice versa.
However, for a Giffen good or Veblen good, the price
elasticity is positive. When price increases, the quantity

demanded also rises.

Demand is price elastic
% change quantity demanded >
% change in price

Price

Quantity

Price

Demand is price inelastic
% change quantity demanded <
% change in price

D

Quantity

Elasticity of demand 11




Elasticity of demand continued

The size of the price elasticity of demand depends on

¢ the number and availability of substitutes. If there are
many substitutes available, consumers can easily switch
away if the firm increases its price. Demand will be more
price elastic.

¢ the time horizon. In the short run it may not be easy to find
alternatives and so demand is likely to be price inelastic.

Over time, consumers can shop around and search for more

substitutes and so demand is likely to be more price elastic.
¢ the percentage of income spent on the good, e.g.
consumers only spend a small percentage of their income
on salt and so are not very sensitive to price changes in
this product. Demand is price inelastic. By comparison,

washing machines, personal computers, and holidays take

a greater percentage of income and households are more
likely to look around for the best price. These goods are
more price sensitive.

the type of good. Some goods are habit forming and so
tend to be price inelastic. In the extreme case this could
be drugs, but is also true of items such as newspapers and
brands of coffee.

the width of the definition. If we define the category of
goods and services we are interested in very widely,
demand will be more price inelastic, e.g. if we look at the
demand for one brand of butter or margarine, consumers
can switch easily to another brand if the price goes up; if
we look at all brands, consumers are less likely to give up
the product altogether.

Price elasticity and a straight
line demand curve

Price elasticity will vary on a
downward sloping straight line
demand curve from being elastic on
the top left, unit elastic in the middle
and inelastic at the bottom right.

Price

Price elastic (> 1)

Unit elastic (= 1)

Price inelastic (< 1)

Demand

Quantity

Extreme cases of price elasticity of demand

" 3 . Unit elastic
oPerfectIy 'melastl.c Perfectly elastlc_ Price % change in quantity demanded =
% change in quantity % change in quantity p % change in price
demanded = 0 demanded is infinite 2
Fiien Price / All the price and quantity
/ combinations give the
same total revenue
Py
Price
elasticity = 1
Quantity Quantity 9, 9, gy Quantity
Price elasticity and revenue ; .
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If demand is price elastic, a fall in price
will lead to an increase in revenue.
Although each good is cheaper, the
increase in the number demanded more
than compensates for this and revenue
increases overall.

If demand is price inelastic, a fall in
price leads to a fall in revenue. The
increase in the quantity demanded does
not compensate for the fact that each
unit is selling for less.

To increase revenue when demand is
price inelastic, the firm should increase
price. \

Demand is elastic
A price cut increases
revenue

Demand is price inelastic
A price cut decreases
revenue
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If demand is unitary elastic the revenue
does not change when price is changed.
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12 Elasticity of demand




